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    KEY/PIECES: Graphing One Variable Inequalities Sort (Grade 7 Standards AF 1.0, 4.1) 
 

5 more than a number is 
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                                             Discussion Questions 
  

 
 

 
1) Why does                                              match with “A number is at least -4”? 
 

______________________________________________ 
______________________________________________ 

 
 
2) How do you know when to use an open or closed circle? 

 
______________________________________________ 
______________________________________________ 

 
 

3) Rewrite the sentence “A number is at most 1.” using other words. 
 

______________________________________________ 
______________________________________________ 

 
 

4) Explain why there are infinite solutions to 7−≥x ? 
 

______________________________________________ 
______________________________________________ 

 
 
5) Why doesn’t                                                  match 2<x ? 

 
______________________________________________ 
______________________________________________ 
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